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BACHELOR'S DEGREE PROGRAMME / 
CERTIFICATE PROGRAMME IN TEACHING OF 
PRIMARY SCHOOL MATHEMATICS (C.T.P.M.) 

0-; Term-End Examination 

June, 2012 

(APPLICATION ORIENTED COURSE) 
AMT-01 : TEACHING OF PRIMARY SCHOOL 

MATHEMATICS 

Time : 3 hours 	 Maximum Marks : 100 

Note 	Question no. 1 is compulsory. Attempt any 8 (eight) 
questions from Q.No. 2 to Q.No. 10. 

1. 	(a) "Mathematics plays a very important role 	4 
in our daily life". Illustrate with the help of 

two examples from different contexts. 

(b) What are negative numbers ? Give two 	4 
different situations in which negative 

numbers are used. 

(c) What do you understand by classification ? 	4 
Outline two activities at different levels of 

difficaly which can help a child understand 

classification. 
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(d) "Children have some understanding of 	4 

fractions before they come to formal school." 

Do you agree or disagree with the above 

statement ? Justify your answer by giving 

two reasons. 

(e) List two common errors the children make 
	

4 

when they use rulers for measuring length. 

Give one activity each to rectify these errors. 

	

2. 	(a) Neha of class 2 wrote 47 (Forty Seven) as 
	

6 
407. What are the probable reasons for her 

error ? Devise two distinct activities for 

teaching Neha the correct way to represent 

a number. 

(b) Show pictorially 	 4 

3 
(i) 16 

(ii) 
	

0.07 < 0.7 

	

3. 	(a) What is the E - L - P - S sequence of learning 

a concept ? Illustrate this sequence in the 

context of learning the concept of place 

value. 

(b) Suggest two distinct child centered activities 

for teaching the concept of symmetry. 
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4. (a) 'Language plays a significant role in 	6 
Learning Mathematics'. Justify this 
statement explaining the usage of language 
in three different ways with the help of 
suitable examples in the context of Learning 
the concept of 'time interval'. 

	

(b) Give two different word problems for the 	4 
mathematical statement 
5 + 7 = 12. 

5. (a) What is a variable ? Give two examples of 
errors made by children while learning the 
concept of a variable. Devise a brief plan to 
help a class of 30 children to overcome any 
one of these errors. 

	

(b) Give two distinct types of activities to 	4 
convince a child that division of a fraction 
by another fraction is its multiplication by 
the reciprocal of the second fraction. 

6. (a) Write down the algorithm for the 	4 
multiplication of a 2-digit number by a 
2-digit number. Explain how each step 
works. 

(b) A child solved the following problem as 	6 
shown below : 

Hrs Mts 
2 55 

+ 	1 50 
4 05 

AMT-01 	 3 	 P.T.O. 



What are the reasons for the child's error in 

the above sum ? Suggest the series of 
activities to help the child understand and 

solve such problems. 

	

7. 	(a) List two differences between regular and 	4 

irregular figures. Suggest an activity to 

assess the student's understanding of these 

differences. 

(b) Children of class 5 are asked to measure 	4 

different angles with a protactor. List two 
errors that you would expect them to make. 
For each error explain why children 

generally make these errors. 

(c) Represent 137 in base two. 	 2 

	

8. 	Give five guidelines for writing a unit plan. 10 . 

Illustrate these guidelines in the context of making 

a unit plan for teaching the concept of 'Volume'. 

	

9. 	(a) Give one example each of the use of 	5 

deductive logic and of inductive logic 

related to measuring time. Which kind of 

logic is used in proving sum of two odd 

numbers is even ? 

(b) What is Symmetry ? Suggest two activities 	5 

that you would take up with a group of 30 
children to make them understand the 

concept of symmetry. 
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10. (a) Draw two rectangles whose areas are same 	4 
but the perimeters are different. 

(b) How would you measure the area of a leaf ? 	3 
Give the details of the steps you would take. 

(c) "Children's errors give us an insight into 	3 
their understanding of a concept". Explain 

the above statement and illustrate with an 

example from division of two digit numbers. 
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